2023F4A 228 28 R FFE (355AFA) HIE—9#

% E R ERE (1F25AFA) BHI3m—9ff gOOm A—hk-A C_) He .40, 12.8, 7.2, 4.8, 3.25M ” }
. = - Py # B 1:2.3 BRSEMES 534 38 544 16 355 12 454 8
18:35 |#57Ly FR 3% & BAL BE 1:24.4 L—R5y JIER : MSM 24 HSS 13 MSH 12 HSM 12 Grart /
g | PHEEY | EEMES T i 35 E AR TE=BMER B BHE (& B) Bt HTE=L—R%& L—T14v¥ 95X 3MTE=%EIE BEHK-EEF- A K
7B & E % B F | mEAMitE (B £ro10%| B 4 1%00m |MTE=RGKE-#E BF -7 2, 3. AABEBIEN 5fTE=(EM - 01— - BBRE 4L ENYSF
fo! 2| B 2 |sdEs/FE|f 4T |8 ¥ 0900m [647E=L—RXX—XHI3F - chiE - #%IF HEL, NFEH, S)EL\) Bk 3 Fi(h REGHR 25-b~4f - 3 ~4F - R3IF(5~1) LY 3 FIRM
%% 8| Bow) ME | £ & & | 13008 (B =ik guﬁ;g}‘;ggm L—REYBSFAALL - HBEDELYSFAAL > 0.5 DBERT MIE=1EBRE2EE (EE) 1. 2. 3SEROME
£E/BE roX | BERM | 3-5ARM| # TETR| M % ig0m i WA 3R AFERT 5ERT
Vo =] 53| 18 B k. |EF0000|F=0000 |23032629 & 3FWL2 |23.01.14 33 F T9l5 |22.12.18 27 F 58L6 | 22.10.23 41 F 4mm/
Y I LT« & JA0.0.02 | AF0.0.0.0 | KEFFI SERBEF SERBEF
T 54.0 117 A500.02 | FmE0.00.0 |14 T16EIIFIAA s |14 1688 5HB14A 8 1688 THI0A 10 1788 1H/I5A &R
T[T at|=us by TLTa E | Eidig E40.0.0.0 [ F£0.000 | 428 -2 /& 52 @D | 430 -6 KFFME 53 @ | 436 10 HLEF 54 446 %) ME 52 @O
(kohAFA4A—) #HH 092 FHX0.0.0.0 [ F/00.0.0.0 | 1800m FA F1:58.4 41.8 | 1200m &# B 1:14.8 39.3 | 1200m & F4 1:14.4 38.6 | 1400m ZA B 1:25.7 34.0
4347 B B s [£]] 0004 |£0001 |£40002|---@----[NMS 37.0-38.2 311 (15) | MMM 34.6-37.4 312 (14) [ MMM 34.5-37.5 213 (9) | SSM 37.1-34.4 155 (2)
oIy () 0.0.0.0 | #05£0%080 | £20.0.0.2 | #38 000 1| 2RE1Y-7'¥(@4.5)  ZHEH | vy 7y (2.8) sz [ 4 yb 0w (2.4) sk | 14-1739-0.9)  %ZEE
Rya—FLIT H3 |18 B A:::: |EZ0000|F=0000 23031733 F 205 |23.02.25 36 ¥ 291 | 23.02.04 37 & 1Hm3 |22.11.06 31 & BRm2 | 22.10.22 29 & 4Himd
FTHSLT REE JA0.0.0.6 | AE0.0.0.0 | KAEF KEEF| FREEF FREEF FREEF
7 56.0 .260 A40003 | Fm0000 |10 168814FI4A s |11 1688 3BI4N W |12 1638 7&HISA 10 1088 9% 9N K4t [ 10 153 4% 8A
A 2|0 | Kanvn 2 | mER 240003 [ F£0.0.0.0 490 0 H+iR 56 (©1D | 490 -6 IBMHE 56 @@ | 496 +10 UBEHE 56 O | 486 +20 ;TEER 55 @®® | 466 0 #ZFH 55 DO
(R34 F2—)) #® 1N FEA0.0.0.0 [ F/00.0.0.4 | 1800m 4 B 1:57.8 39.6 [ 1800m 4 B 1:58.5 41.5 | 1600m & B 1:41.4 38.7 | 2000m B £ 2:04.6 36.1| 1800m & B 1:58.5 40.6
774 [#1] 00011 [ %0001 240006 | ----@ oMM 38.0-38.7 153 (6) | MMS 37.8-40.5 233 (12) | MSM 35.1-38.0 243 (11) | MMM 37.2-34.7 252 (10) | MMS 36.6-39.6 133 (7)
AREZ 0.0.0.0 | 04050380 | £ 0.0.0.5 | 5@ 0000 | nya 21 (3.5) HEE | 1200 Y(2.2) Bk | Moty (1.9) S | 7-00 501 (2.5) BB | YrAHN -(3.2) Pk
7 93V-vavE7 91— H3 [ 20 B ©O:::: |EZ0000|F=0000 23032213 & %# |23.01.2233 & IFm8 |23.01.08 32 & I19m3 |22.08.07 31 = 28mmd | 22.07.16 30 ¥ I/I@ES
2K '547’5‘— H el JA0.0.02 | AF0.0.00 | EAHRS 3% ] ]
56.0 .249 A4001.0 [ Fm@o001.2 | 3 8% 2& 5K M |12 153 4&IIA 13 1638 3&IBA ™ |13 1588 6&I2A 6 87 5% 6A
&l 3| o | 7L< 2E | LB% EX0.002 | F£0000 [474 -8 HOE 53 ©O® | 482 0 AEM 54 482 +16 KAfR 53 466 -12 @545 54 0| 478 #) EHR 54 OO
(ARSI 4 —2) HH .24 EA0.0.00 [ F/00.0.0.0 | 1400m &4 B 1:30.7 41.0 [ 1400m & B 1:29.2 39.9 | 1400m & B 1:28.6 39.6 | 1400m A B 1:24.0 35.0 | 1200m ZA K 1:10.8 36.0
HRESHEFRIN /77-4 [#]] 0.0.1.4 [ %0010 240012 | --®----[HMS 35.5-40.9 434 (5) | NMS 35.6-38.7 212 (11) | MSM 35.3-37.9 312 (14) | MMM 34.6-35.6 155 (1) | MSM 34.3-34.5 442 (6)
IBAER 0.0.0.0 | 040320580 | £ 0.0.0.2 | $3B 0000 | 9 7k 43v(1.2)  E38% | #30(2.7) SEkE | YWITHIF(2.4) EHEE | HEAY-7 (1.9 Bk | 40 /500(2.0) SEHkE
545 FI—ILEY H3 |10 B - |EZO0013 | F=0011 230408 14 & P& |23.03.24 1] ¥ k& |23.031016 & fE& |23.02.26 10 & 1A |23.01.07 33 ¥ 182
E—257Y—@O RS o JA0002 | AE0001 | 34— 8H 3 | SAGAY 3 | SAGAY 3% | EAFNE 3% | RB:FI
T 56.0 .183 40013 | FrE0.0.0.1 |10 1158 5% 5A 3 1088 6% 6A 7 128 4F 1A 10 108H10% 2N K4 [ 17 1788 4&I5A W
4 LF4A+RY—T B | RS ET 12690 | £40.0.0.2 | F£0.0.0.0 | 494 +7 lLOF 56 @O@O@ | 487 -9 ILAE 55 @O | 496 0 LT# 56 ®®| 496 0 WA 55 GOO| 496 +12 FEN 54 BO®
(FPTRRBEXAY) B . 282| T 1269@ | T 0.0.1.3 | F/00.0.0.0 | 1400m 4 F 1:37.7 44.2 | 1300m # & 1:26.9 40.8 | 900m & & 0:58.5 30.1| 1300m & F 1:30.6 44.0 | 2000m ZC [ 2:04.3 37.9
BE KRS [£]] 0016 |£001.2 |£40015 | -©-@ @ ®HSS 38.8-40.3 231 (9) | HHS 38.6-41.3 355 (2) 38.0 253 (7) | MHS 39.5-41.5 221 (10) [ MMM 36.0-35.8 211 (17)
TEFR= fr VT 499" 2 () 0.0.0.0 | #05£0%0580 | £ 0.0.0.1 | 18 0012 [ #%/% yyhh(4.8) S5 | £-209"n'9-(0.6) #h5esk | IhFad7v(2.4) k& | hvizh 3.1) Sk | BMbY 10-Fr (3. 1)  FEsEM
P ETDES 5319 B[ O:::: |EZ0000 |F=0000 [22.11.27 23 F GBS | 22.11.13 28 & bWx#4 | 22.11.06 34 & bBxw2
E =‘Vt“ ;s J& 0002 | AF0000 | REEFI EY ) B
= 53.0 .224 A400.02 | FmE0.00.0 |14 168 7HISA 14 1438 3HIBA T 1E1E A BA
5(5|a|xs/vz=— & | wme £40000 | F£0000 |384 -4 kK&F 50 Q3| 388 +6 FEH 54 OB | 382 4 SHE 51
(Yx=aqv) EH 243 FEA0.0.00 [ F/00.00.0 | 1200m £B B 1:11.3 36.8 [ 1200m # B 1:16.6 40.6 | 1200m & B 1:16.4 38.7
MERE [%]1] 0.0.0.3 240002 [ v MMM 34.0-34.8 431 (16) | MMS 35.7-38.2 431 (14) | SMS 36.2-38.0 253 (7)
it AED 0.0.0.0 | 04030580 | £ 0.0.0.1 | s 0000 | y7471-4(2.5) B | 1720 HQ2.T) Sk | MR(Q2.2) HER
FAILSOIY 33 1']7 5 I {tgooo 0 izoo 0.0 23.&3.13 3T & (BRI 22.##119 23 F GBR#5 | 22.10.30 35 & ABR#9
- IS 13 J&0.0.03 H=0.0.0.0 || 1,
TATLDZUIY a0 .1n H50003 | FE0.000 |13 168 THI6A T 1@ oBIIA s |10 1088 2% 8A B
Ol 6| a2l F4zLFFoa 28 | TR £4000.0 | F£0.0.0.0 [ 536 -10 A 56 @O | 546 -4 FIAE 55 @GOD | 550 %) FHEE 55 @O
(£r/m784) HH 183 0001 [ F/000.0.2 |1200m % F 1:14.9 37.8 | 1800m &% B 1:59.7 41.0 | 1800m % B 2:00.0 40.8
[#]] 0003 [Z0001 |£40003 | ----®---|MM 353-36.6 152 (10) | SMM 38.6-38.0 331 (11) | SSM 38.9-38.0 321 (9)
0.0.0.0 | 0500580 | £ 0.0.0.0 | $458 0000 [ 4 y¥ 37 3.0 FEE | A AT $(4.0) K | 0-UMesiv(3.6) EES
H3 |12 B ... |EZ0000|F=0000 23030527 ¥ 2%fl4 |22.12.10 25 F 5FIL3 |22.11.20 37 & 5R=m6
& JA0.0.0.2 | AF0.0.0.0 | KEEF KEEF|
56.0 .273 A400.02 | FE0.00.0 |14  T6TITHEI4A 14 1638 1&HIBA &M | 13 1738 4&I6A W
17 #E EX0.000 | FH£00.0.0 [442 -4 1k 52 446 -2 KiE9) 55 (D@ | 448 ) AW 55 3O
"y HH] 319 FEA0.0.00 [ F/00.00.0 |120m 4 B 1:15.0 40.1 | 1200m 4 # 1:15.3 40.6 | 1400m 2C B 1:25.1 36.5
777/E|nwﬁ [%]] 0003 [ 0001 |£40002] ----- @-| MMM 34.3-38.2 342 (16) | MMM 34.0-38.2 321 (16) | MMM 35.0-34.7 332 (15)
$ory i () 0.0.0.0 | 705020580 | £% 0.0.0.1 | %68 0000 [ ¥ y-2-#%)-(2.5) %3k | 544 3.1) EHRE | 519270 (2.3) Pt
ISNED H3 |10 B . |[EZ0005 | F=0001 |2303.26 14 & f&& |23.03.10 14 # (k& |23.02.260 & (& 230211 11 & & |23.01.28 13 & I£&
A3a<wy X J0000 [ AF0002 [ SFETHL 3 | SAGAY 3 | SHAFLE 3% | SAGAY 3% | RAREFE 3%
53.0 .088 40005 [ F080.00.2 9 TIEEI0% 5A ks[4 128 6&/IIA 9 1088 5% 8A 11 128 8% 3A 4 9FE 5& 4N
8|8 1=F41 B | D 8 1301@ | £40.0.0.0 | F£0.0.0.0 | 477 -6 REE 56 OO | 483 0 FHEK 53 ©@| 483 0 Hik 53 D@D | 483 -1 FFK 53 @] 484 HEX 53 OGO
(T4 ESyva) %8 .092| 4£F 1301@ | A 0.0.0.5 | F/00.0.0.0 | 1400m &4 F 1:34.7 41.6 | 900m # % 0:57.4 38.8 | 1300m # & 1:30.1 41.3| 900m # % 0:58.3 37.6 | 1400m & & 1:34.1 41.8
AHELH [#]] 0005 [£0002 |2£40005]| --© @ O HM 38.3-39.0 221 (7) 38.0 343 (6) | MHS 39.5-41.5 134 (3) 37.2 133 (2) | HSM 38.7-39.1 411 (5)
Hrhffs 0.0.0.4 | 30502080 | £ 0.0.0.0 | 38 0000 [ 9108 92 95(4.2) K%k | MILF97v(1.3)  EE [ Wizh (2.6) SEW | H91-fyus (2.4) KKk | 7404 (3.0) Hk
P EREL 3|16 B . :::: |EZ0000[F=0000 230318 31 & 20hm3 |23.01.056 32 F 1Ll [22.10.30 31 F 4%m6 | 22.10.08 30 & A4mm1 | 22.09.17 29 & A4®IL3
STy F v 1) kiR JA0.005 | AE0.0.00 | KEEFI REEF REHF FLRBEF FLRBEF
T 54.0 180 A400.02 | Fm@0.0.0.1 |15 168 7HISA 12 1638 8&I6A 9 13EEI3EI2A A5 | 12 163 6FI6A 9 EENEIZA 4
819 AAFATR E | flIlE 240003 [ F£0.0.0.0 | 406 0 #3BE 54 @B | 406 +8 #IHE 54 @D | 398 -8 HIBE 54 406 0 BI5E 54 @@ | 406 -4 BIBE 54 OO
(=L F7Ya—) HE .13 FEA0.0.0.2 [ F/00.0.0.0 | 1200m &4 F 1:14.3 36.5 | 1200m 4 B 1:14.9 38.8 | 1200m % # 1:14.7 38.2 [ 1400m & F 1:26.5 37.1| 1200m 4 B 1:14.6 38.9
772-th77-4 [£]] 0006 [ 0001 |240005 |- ®- - | MMM 35.3-36.1 113 (7) | MMS 33.7-38.9 114 (6) | MMM 35.5-37.6 333 (8) | MMM 35.4-36.4 243 (6) | MMM 34.3-37.1 232 (9)
RREA 0.0.0.0 | #05£0%0:80 | £ 0.0.0.1 | &4 000 1 [ 7RITE"Y-1 (2.9) KEZE | an' Wb 420 (2.3) ZEZE | 4-W - (1.6) Kk | =v/hviv(2.2) SeeE | MY ¥3Q.2) piiorin
548 5 — 1 1300miE 4t 55 R (SEEHHARY : 2021.04. 20~2023. 04. 19) ERTE HEHSHENE
|[:to3 EHES HERS 17& 2% 3/ #HH BE i % (%& 1 2 3 45 6 7 8
1 F—troa—4y 216 20 12 22 162 0.093 0.148 F (3#ME) 27 30 30 32 31 29 32 34
2 xR A 87 15 8 75 0.172 0.264 0 _______
i _l?_ m;:w 111 }i 11 15 71 0.126 0.225 7 @ FESV T/ 2L RAIE
yaA—HLIT 1 6 8 13 0.341 0.488 o BiO#: 301 M SIFSEAT (534, 544) 5 sowmork
5 Y 119 13 0 10 8 0.109 0.193 i ,,,@,,, & E; 6.4 H ’éégﬁ E434‘445§ 3 ok
6 0 13 4 5 48 0.186 0.243 q; @ ¥ 306M F<Y  (255,355) 1 %
7 13 12 16 10 75 0.106 0.248 = BALi:1:251 BLVAH (335,245) 1 x
8 koI —L K 125 12 13 1387 0.096 0.200  _______
9  qmO 79 12 9 10 48 0.152 0.266 ® ®
10 Ryy—re—0— 212 9 8 43 0.167 0.292 5 D20

BLEHRT=H, HEORERL, HERH, BFEELLE, T TERERTOHEREBELTFEL,
20235F4F228 58 R FHB (1355AFA) HI3mE—9# Y5 ILy FR 3% EE 1300m 55—k H ¢ FENOOEM, EHEELET.



